
Multiplying Using Area Models: 
One-Digit by Three-Digit #1

Name ____________________________________________   Date __________________________

Find each product using the area model. First, write the 
partial products in the blanks under the area model and add. 
Then, write the product. The first problem has been done for you.

1.      2 × 315 =    2.      3 × 789 =

600 20 10

7.           9 × 764 =    8.         8 × 582 =

3.       5 × 436     =    4.         6 × 254 =

5.         4 × 953 =     6.       7 × 876 =

+ +
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